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Q3ZTLLS

Herfera udterr -1(2015-16)
SUMMATIVE ASSESSMENT - I (2015-16)
qraTtster famr / SOCIAL SCIENCE

el - IX/ Class - IX

ferifa ww= : 3 gue ItfreRa 3 : 90

Time allowed : 3 hours Maximum Marks : 90

= 49T

(1)

(vi)

TH U T H F1 30 T B | Uk T a7 |

T WY % WA ST ik fad gu E

T Ik 1 T 8 TF & Y97 Ueh-Ueh ek o ¢ | TIh IR Ueh II6g 14T Ueh AT | < |

T ShHi 9 T 20 Tk TAH U 3 3k H1 T TTH § Tk T 1 IR 80 I F SAferk T En
Sl

9 A% 21 § 28 Th TAF T 5 ek H1 ¢ 1 TTH A Th T H1 SR 120 vrsat o Aferss T2
B =R

U9 Shleh 29 AR 30 HHfeS Trereh 9o 3-3 3fF & HAW: siEd IR 9ier ¥ €)1 s feaen
% g T i SO IR IR & 3T TR aie S |

General Instructions :

(i)
(i)
(i)

(iv)

The question paper has 30 questions in all. All questions are compulsory.

Marks are indicated against each question.

Questions from serial number 1 to 8 are very short answer type questions. Each
question carries one mark.

Questions from serial number 9 to 20 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 21 to 28 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 29 and 30 are map questions of 3 marks each, from History
and Geography respectively. After completion, attach the maps inside your
answer book.

reRIvi </ =AmR foha @9 HRIgl & S =ordn o ?

Among which three continents was the triangular slave trade carried on ?



2 TR TR ok I TS kM AW fafEn |

Name the origin point of Narmada river.

3 G T SRR forear foran 82
What is the longitudinal extent of India?

4 ST qIE STt &2
Which landform lies between Western Ghats and the Arabian Sea ?

5
TR fepan?
After which important event in the history of France, did the French people approve a
democratic constitution for them ?
6 ot 1981 H dietvs H Hiwiet 1 i Sfvd fepan o2
Why did general Jaruzelski imposed martial law in Poland, in December 1981 ?
7 e TS < SMEH SAThIT>Teh TR h1 Seeid hifSIT |

Mention one non - democratic feature of President Mugabe’s government.

8 TR # feRar wfer wm et W R 2

What percentage of people are dependent on farming in Palampur ?

9 [RISIERI
What is the significance of the Storming of The Bastille ? What is meant by people’s militia ?

10 w4 H, 3TRER 1917 % 9vEd diesifashl gRI fRT 1T fondl i
State any three major changes made by Bolsheviks in Russia after October 1917.

3797/@T/ OR

SHAT H SIS TORG o el fohel i Seeansti sl e hifse |
Explain any three problems faced by the Weimar Republic in Germany.

11

Who were Soviets ? Describe their role in the revolution ?
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2197aT / OR

Tredt 91l 1 TS Y Towman T ? Toe FHifSe

How was the Nazi Party formed ? Explain.

Mention any three similarities between the Himalayan rivers and Peninsular rivers.

2.4 a9 & 7Y 39 W fava &1 gOd o € G
FHIIR T el

India accounts for about 2.4 percent of the total geographical area of the world but supports
the second largest population of the world. What are its three implications ?

—Ueh ToIdT ST |

What are the three types of tectonic plate movements ? Give one feature of each.

TSI 3 1 STl TSIk I |1 €I €2 T i 9@
forafiert =1 = ferfiea |

Define - “Water Divide’. Which place is the water divide for Ganga and Indus river systems?
Name the major distributary of river Ganga.

Al ol i I9<

Why is democracy preferred ? Give any three reasons.

1)

How was the constituent Assembly formed ? Explain.

foret o @R fOART o e &l 1 3T ekl =med 9 ?
Why did the people of Chile want to overthrow Pinochet’s rule ?

SNSRI o TRl a9 9RomHl 1 T shifsrg |

Explain any three consequences of unemployment.

w



20 it # i v | 3

Differentiate between Fixed Capital and Working Capital.

21 IEH TAS § TRy Aae fhy YR afad off 7 Heged § s @i oI 9?7 99 § gfaensfi 5
o Wi HeAent o foremi w1 T it )
How was the system of ‘Estates’ in the French society organised ? Who constituted the middle
class ? Explain their ideas about privileges in the society.

22 Tl shif=<l < fored o gu ywEl st = 5
Explain the impact of Russian revolution on the world.

3191e1/ OR
5

Explain the condition of women in Nazi Germany with suitable examples.

23 R HEEAA Sl FUM hifT | 5
Describe the Indian desert.

24 YR & Giaem o HEq1eTi o TEY o e ohi AT Shifal | 5
Explain the importance of institutional design of the Constitution of India.

25 ThdA o 1 Ui 1 A AT | FHRIA fove | iehas sl o -8 w9 S T H € 7 7l 2 5
Name two kinds of democracies. Which one is most prevalent in the contemporary world ?
Why ?

26 fivam % & H SEEN & fafi= el 7 st o o <@ g1 we % foa 7 SIS ) 5

"A vast difference is noticed across different sections of population so far education is concerned."
Justify the statement.

27 Aty wHA JUTel T Y HY fafeml # = i 82 Sifosk sfisii o 730 9 3794 4 T 7 5
1 Wl I ST HeRll © 2

Differentiate between multiple cropping and modern farming methods. Which type of
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farming can be done through organic seeds ?

28 77 997 & HROT < 3T AN | hIHT HH! AT ©, 1 R § 9 39 ThR o Hif<dei] IRadd 5
AT T Gohd €7 TR FHITST |

China reduced its cost of production due to low wages. Can this type of revolution happen in India ?

Explain.
29 A, BERC 3
(A)  TF R FHF T8 F W H AE S g 7
(B) T R § HafHd Tk I<0TR |
(C)  THE WSS Wl a1l few|
e ;. FrafatEa wve e gieartia aienfedt & fau €

(29.1)

(29.2) TT HTe 1 G H SAdH H1 7T Fed € 7

(29.3) uiferar el quferd g o ?

Three items A, B and C are shown in the given outline map of France. Identify these items
with the help of following information and write their correct names on the lines marked on
the map.

(A) A city whose name is associated with the National Anthem of France.

(B) A port related to Slave Trade

(©)  An epicenter of main panic movements.

Note: The following questions are for the visually impaired candidates only:

(29.1) State the name of capital of France.

(29.2) Which period in France is referred to as the 'Reign of terror' ?
(29.3) Where was Napolean defeated ?
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QU U RA o TSTHifdeh Y@MHFE R, =aiad &1 Suged dendl gRI 29 Td 3 AW fafay

X)
(Y) 71 eH e

(2)

dre ;.  FrAfafea uo e giearfua adenfot & fau ¥

(30.1)

(30.2) ¥Ra H feorq feer ot Had St =t S o § 7

(30.3) 4Tl Skl HHT § Nd Foi Bl T4 1 M forfEe |

On the given political outline map of India, locate and label the following with appropriate
symbols :

X) Woular Lake

(Y) Nanda Devi Peak

(2) Garo Hills

Note : The following questions are for the visually impaired candidates only.
(30.1) In which state is the Wular Lake situated ?

(30.2) Which is the highest peak of Himalayas in India?

(30.3) Name the smallest state of India which has its boundary common with Nepal.
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Political Map of India
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